


H & 0l & A E Al A
20228 = =0l LBt o 2-& 1t
A 2t
Ha: BIE s Y 2P
el 2B DS (2ol He
= X XH Ct2l (S = o HASZ OH x‘—-IL'i'E =2}
Tkl ox—|'|_|"l‘|(21)")'k"—rA|'|=|"‘£o—1 0:"‘&'—| O:H&.OH t”DLEI:I
22 6,781,382 8,135,487 AN 1,354,105
s 117,000
< 243,087
i 6,421,295
2Z0|e 25 2 2| 2,865,382 3,585,729 NT20,347
< 93,087
i 2,772,295
2o 1= 2,768,382 3,271,729 A 503,347
< 93,087
i 2,675,295
oA 2Y 59,600 75,600 A 16,000
201 et Fy| 49,600 65,600 A 16,000
01 At 2teltl 16,000 33,200 A17,200
OZHECHHAA HIZE Y| 6,000,000& 14! 6,000
OZZotA EHl Xz (228, F=I], H
a s) ,000,000& *14] 5,000
oLrz=iME M HZE 500& *10, 0000H 5,000
02 5223l 33,600 32,400 1,200
oZtUAx: S8R  FFHI
1,800,000& x12& 21,600
O Ar2ZoHEA HEAEH 1,000,000 +12& 12,000
401 Al HI L2 0HHI 10,000 10,000 0
01 Al&HI 10,000 10,000 0
O=FotA Al B L KX2eldl
10,000,000+ 14 10,000
S HNEAN 2 (MEAY) 37,770 71,989 A34,219
< 8,716
s 29,054
301 YPYBNZ 37,770 71,989 A34,219
< 8,716
s 29,054
12 JIEt2 43 37,770 71,989 A34,219
O3t ZHE AL ESHI 37,770,000& 14 37,770
< 8,716
s 29,054
dbAaZ 2HR30002] =4 6,800 6,800 0
201 et Fy| 2,400 2,400 0
01 At 22|l 2,400 2,400 0
O4&tAZ HI|SAL 2= 2,400,000& 13l 2,400
203 HRF&H| 2,000 2,000 0
03 Al =X R A 2,000 2,000 0
OttAad BHS RFH 2,000,000& 14! 2,000
307 QI2+0I A 2,400 2,400 0
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SN 2D
M BB HE L e
el 2IIY DE (ol H e
- _ - &E
SA -3 HAGA) - HEAY - BES Ol & oK '(EI&OEH Hws2
04 QIZHHAIAIE 2 & 2,400 2,400 0
Q&tAZ ZII&A XI& 2,400,000& 14! 2,400
SHBZHEA 2 (XHH) 15,000 15,000 0
201 LBr2 | 2,000 2,000 0
01 A2 2|t 2,000 2,000 0
OSSBTHLAN HEH A2E U]
2,000,000& 14! 2,000
301 LEIENZ 13,000 13,000 0
09 B AFAEIXIRI 2 9,000 9,000 0
ORIABBHLMN DS L A2 FIt Ayl
500,002 102! 5,000
OSSBBHLA SEX A8t Al
400,000& *10¢! 4,000
12 JIEH &3 4,000 4,000 0
OSSIBBHLA AHLEE 2,000,0008 14! 2,000
O=2st2t & &AL II=H| 200,000& = 102! 2,000
2tZees 29 27,500 13,500 14,000
201 L EH2 & 24,000 0 24,000
01 At 2teltl 24,000 0 24,000
CELTPNEEPY 8,000, 0002 *33] 24,000
202 01t 3,500 3,500 0
01 =LHOIYI 3,500 3,500 0
OUEs B L HX A
250, 0003 x2H *73] 3,500
2gxEe 83 2 sxze 26,600 2,000 14,600
201 LBr2 | 6,600 6,600 0
02 32| 6,600 6,600 0
ouLEE XE=E 22R3 550,000 x12& 6,600
401 Al HI L 20| 20,000 5,400 14,600
01 AI&HI 20,000 5,400 14,600
OBFES HHAT SN2
20,000, 00024 #14! 20,000
BPEES WX L e 172,400 176,400 4,000
201 LBr2 | 172,400 176,400 4,000
01 At 2teltl 170,000 174,000 24,000
oZxZ=EE MH 1,000& 20,000 *63! 120,000
CER=E I 30,000, 00094 #14! 30,000
ORFES JIEE MX 20,000,000 14! 20,000
02 3223l 2,400 2,400 0
COULEBEE YE= 200,000+ 12& 2,400
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2t it
BB BE U 2
2P 2= 9 &2
- _ - PSRE |
SN BB S(E) - MRAY - BAS S 2
ZZOHHMA 75 KEA(HEAIY) 29,802 0 29,802
& 19,371
o 10,431
201 et Fy| 7,338 0 7,338
& 4,770
= 2,568
01 At 22|l 7,338 0 7,338
OLt=0 22t XSE MZ 7,338,000 *14] 7,338
& 4,770
o 2,568
401 AIEHI L 20HYI 22,464 0 22,464
& 14,601
o 7,863
01 A&l 22,464 0 22,464
OZZOHHEX E AlM o=
22,464,000 14 22,464
L= 14,601
i 7,863
22X AlE J7Rl2e 79,000 79,000 0
201 LBr2Ed| 7,000 7,000 0
01 AFS 22l bl 7,000 7,000 0
O=%X Xz 7,000,000 *14] 7,000
202 04| 2,000 2,000 0
01 =L YI 2,000 2,000 0
O=&X FR=X 10,000& *4H «503] 2,000
401 Al EBI YL 2CHYI 70,000 70,000 0
01 A&l 70,000 70,000 0
o&EX ANEE B 70,000, 0002 14 70,000
Orgdd 43t 5,000 3,000 2,000
201 et g| 5,000 3,000 2,000
01 AL 22l bl 5,000 3,000 2,000
SE0IF Y etz 100, 000& *50H 2~ 5,000
QMA AA w2l 17,000 15,000 2,000
& 15,000
o 2,000
201 LBr2Ed| 1,000 0 1,000
01 At 2t2ld 1,000 0 1,000
o2 =ZIA =2 1,000, 000 =14 1,000
202 04| 1,000 0 1,000
01 =LHOA Y| 1,000 0 1,000
o=dAd EH 1,000, 000 * 14 1,000
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AN 220
Mm@y 25 U e
2| 2= SCRCE
= = — X L=
SA SR (S) - MRAY - BAS il &t e RS2
401 A& HI YL 20HHI 15,000 15,000 0
& 15,000
01 A&l 15,000 15,000 0
OLM2E AL 22| 15,000,000 * 14 15,000
& 15,000
MEH =5 A2 2 T2 2 (XM 3 551,923 975,000 A423,077
401 Al HI L2 0HHI 551,923 975,000 A423,077
01 A&l 549,936 971,490 A421,554
Oi~ZS G CHAME THAS
549,936, 000& 14 549,936
03 A€ 208l 1,987 3,510 A 1,523
ORA~ZS o HAEN A
1,987,000 14 1,987
BARere) O E A 2,000 2,000 0
201 et gy| 2,000 2,000 0
01 At 22|l 2,000 2,000 0
ozuZ=9 HMH 500,000& *42] 2,000
2|=0l ZFEA 2 60,000 60,000 0
L= 20,000
i 40,000
201 LBr2Fd| 42,400 20,400 22,000
L= 14,134
i 28,266
01 AL 22l bl 42,400 20,400 22,000
022N E HE 22 g ZZEA 2Y(
UBr2AH|) 42,400,000 14 42,400
L= 14,134
i 28,266
301 LB F 17,600 39,600 222,000
& 5,866
i 11,734
12IIEt2 43 17,600 39,600 222,000
OQAZOIHE HLBBY HE BN 2(
LZEA 23 BEXZ2 X3)17,600,0003 «14] 17,600
& 5,866
o 11,734
FStHe 8 & 29 1,414,814 1,350,440 64,374
& 30,000
o 1,384,814
306 EH= 1,414,814 1,350,440 64,374
& 30,000
o 1,384,814
01 =93 1,414,814 1,350,440 64,374
OZSME =3 1,354,814,000& 14 1,354,814
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SA BRD
Mm@y 25 U e
ool 2EIIY 2= (eto): &2
= = — X L=
SA SR (S) - MRAY - BAS il &t e RS2
o= 54 X& 60,000, 0002 14 60,000
& 30,000
o 30,000
AT 22 29 L A 30,000 0 30,000
306 £¢= 30,000 0 30,000
01 =93 30,000 0 30,000
OZJAEZBWH =3 HF
30,000, 000 * 14! 30,000
QAME MUY ZB 50,000 0 50,000
401 A& HI YL 20HHI 50,000 0 50,000
01 Al&HI 50,000 0 50,000
oMy MU Ex2A 50,000, 000& * 14! 50,000
ZZHE JIEAE FXE= 70,000 0 70,000
401 Al HI L2 0HHI 70,000 0 70,000
01 A&l 70,000 0 70,000
OZZHME JIEAIE RRE=
70,000, 0002 =14 70,000
AN 2ot 2 3,173 0 3,173
201 LBr2Fd| 3,173 0 3,173
01 AL 22l bl 3,173 0 3,173
OANRES & 7¢ 3,172, 7502 = 1A 3,173
TMAL F 7 F=XE =4 10,000 0 10,000
401 A& HI YL 20| 10,000 0 10,000
01 Al&HI 10,000 0 10,000
OFFA U FXE THTA LA S
10,000, 000& * 14! 10,000
EHCAHZ ELHER Ex 100,000 0 100,000
401 Al HI L2 0HHI 100,000 0 100,000
01 Al&HI 100,000 0 100,000
SHAND gYce 24
100,000,000 *14] 100,000
NEA=H a&dst N3 97,000 314,000 A217,000
22 0E =& 97,000 314,000 A217,000
201 LBr2Ed| 38,000 248,000 A210,000
01 AL 22l bl 10,000 220,000 A210,000
OZZESHO0IXl 2EI= HH| 10,000,000 *14] 10,000
02 2322l 18,000 18,000 0
O&EHO0IX 24 1,500,000& =128 18,000
03 A2 H| 10,000 10,000 0
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FA 2
Mm: pEI|Y EE U Be
el XNSEEH 243 N (el &
SA B SRA(EH) - MTAY - BAS 0f &t e HIDE
oL sl 10,000,000& 12 10,000
202 044 2,000 2,000 0
01 =W oddl 2,000 2,000 0
Oo220HE =0y 2,000,000& * 14 2,000
301 2283 7,000 14,000 AT,000
09 HALAHIXIEAS 2,000 4,000 /2,000
ORMAIEN 212tel AHI24 2,000,000& 14 2,000
12JEt2 &= 5,000 10,000 A5,000
OHH22d KX HEE 29
5,000,000& * 14! 5,000
308 AHXIEHHMSOIH 20,000 20,000 0
07 MXSHM2tRe= 20,000 20,000 0
Solet A2 SE2AZ2H =N
20,000,000& 14| 20,000
401 Al HIZ SO 30,000 30,000 0
01 Al€H| 30,000 30,000 0
oJlgg 20g 4Xx 30,000,000 14! 30,000
s g2l 543,632 469,470 74,162
= 20,000
= 523,632
SSANEE 72 543,632 469,470 74,162
< 20,000
= 523,632
Fdaxd & |A2el 353,632 319,470 34,162
101 14| 182,632 154,470 28,162
04 JIZtN 22 NS 2+ 182,632 154,470 28,162
OS ity 23 daet 182,632
oJlzs 82,6403 x5 »270& 111,564
OFs=+8 82,6403 x5H #355 14,462
Osgz2e=*g 82,6403 x5H +702+0.5 14,462
O3xt==d 82,6403 x5& x12& 4,959
O=tAsSEE= 29,089,4003 x5 #0.045 6,546
OLEEEEEE  29,089,400& x5H+0.0175 2,546
OAHZEEEEE 29,089,400 5 »0.03495 5,084
OFILLE= 997,800% x5& #0. 1227 613
OdtEMHE2E=E 29,089,400 x5 %0.0105 1,528
Of &= 20,868,000% 14 20,868
201 fet2E| 146,000 146,000 0
01 AtR2telH 3,000 3,000 0
OtZds Y A2 72 3,000,000 *14] 3,000
02 ss=3H 143,000 143,000 0
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A 22D
M 2A Ty 2
@ SZAEE 72 (A= &
_ PSRE |
SN BB S(E) - MRAY - BAS 01l &t o S mEET
022232 % HMA 9,000,000 * 123 108,000
ozEXE KAl 35,000, 000 * 14 35,000
206 M =4I 5,000 0 5,000
01 =4l 5,000 0 5,000
OY AR AT 227 5,000,000 =14 5,000
401 AIEHI L 20HYI 20,000 14,000 6,000
01 A&l 20,000 14,000 6,000
O MXY H=&Y 20,000, 000& * 14! 20,000
SANE B 80,000 40,000 40,000
& 20,000
i 60,000
401 Al EBI YL 2CHYI 80,000 40,000 40,000
L= 20,000
i 60,000
01 A&l 80,000 40,000 40,000
OSAS ¥ FAZYS 24
40,000, 0002 =14 40,000
OUMNHESE FVEY A3
40,000, 0002 14 40,000
L= 20,000
o 20,000
ANEZS sXl2el 110,000 110,000 0
401 AIEHI L 20HYI 110,000 110,000 0
01 A&l 110,000 110,000 0
OMAAZT B 30,000, 000& * 14 30,000
EHOIAIZ (Ul HIXI) 2= 20,000,000 *14] 20,000
O AMS HX L 24
40,000, 0002 =14 40,000
OFEAMAIE SXNES 20,000, 000 * 14! 20,000
JIBtAIE =4 104,480 105,000 A520
JIgtAldE =4 2 2e| 104,480 105,000 A520
NE=tsE 2 7Rl 6,000 6,000 0
201 LBr2Ed| 6,000 6,000 0
01 At 22|l 6,000 6,000 0
O=%X Xz 3,000,000 =14 3,000
ORI EY+2E 3,000,0002!* 14! 3,000
A2 DBt S 98,480 99,000 A520
101 el 24| 6,480 0 6,480
04 JI12tM22sEs 6,480 0 6,480
OdUA ot7 s+&Y 90,0003 +6H x 123 6,480
202 04| 2,000 2,000 0
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A 2t
M DIt =
St JIBIAISE T8 Y 22 (ool @el
= X XH Ct2l (S = o HASZ OH x‘—-IL'i'E =2}
Tkl'ox—|'|_|"l‘|(2|)1|)'k"—rA|'|=|"l£o—1 0:"‘&'—| O:H&.OH t”DLEI:I
01 =L YI 2,000 2,000 0
OANHE JIEtEd HRFA
20,0003 +2H 502 2,000
401 A& HI YL 20| 90,000 90,000 0
01 Al&HI 90,000 90,000 0
Odl==&=H AldE FHl 50,000,000 14! 50,000
OM+SHEN €2 U FXE M|
40,000,000 14! 40,000
oz 8 1,177,300 400,900 776,400
oie HAANEES Ebl 1,042,200 346,200 696,000
e ZAHAES FHI 26,200 16,200 10,000
201 et gy| 1,200 1,200 0
02 2322l 1,200 1,200 0
O CCTV 8838 MEZ= 100,000 12& 1,200
401 Al HI L2 0HHI 25,000 15,000 10,000
01 Al&HI 25,000 15,000 10,000
OdlH S&S ZAIEH & ZAHEH FY|
25,000, 000& *14] 25,000
et ZAHEE EAH 1,016,000 330,000 686,000
401 A& HI YL 20HHI 1,016,000 330,000 686,000
01 Al&HI 1,016,000 330,000 686,000
O3HH = ZHEM EHA
1,016,000, 000& 14! 1,016,000
o 22 E A3} 135,100 54,700 80,400
ASLE =MZ2Z(YO0IE, o) RAEs 105, 100 54,700 50,400
At
201 et Fy| 5,100 4,700 400
01 At 22|l 1,500 1,100 400
OVSTY =MAVA(LAHH) R Of
2= 1,500,000 14! 1,500
02 2322l 3,600 3,600 0
O=MA2Y ZIRI (e, 4o, HY SXIoH
&) 300,000 *12& 3,600
401 Al HI L2 0HHI 100,000 50,000 50,000
01 Al&HI 100,000 50,000 50,000
OMEEs 2 X2l (Zets  aHIted, =
A 22 ) 100,000, 000& * 14! 100,000
sitel JZM £X 30,000 0 30,000
401 A& HI YL 20| 30,000 0 30,000
01 Al&HI 30,000 0 30,000
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SN 2B
Hu: YR TE
ool Y RBE A

% = &
SN B CR(BH) - MRAY - BES 0l et S HRE2
Osttel Y EXSA €HEA
30,000, 0002 =14 30,000
=== 2el 773,222 648,259 124,963
a2 23 773,222 648,259 124,963
a2 2 2tel 179,200 69,600 109,600
101 14| 12,600 9,000 3,600
04 JI12tM22sEx 12,600 9,000 3,600
odlIxiZ2eld 29 90,000 1«50 4,500
ORI Myd] 2= 90,000 1490 8,100
201 LetEdy| 8,800 8,300 500
01 At 2teltl 8,800 8,300 500
OdH===2Z HEA(ESH) HE +E
3,500,000 =14 3,500
OM+SH HIA(SSH) STHU AR
500,000 14 500
Ol==& 22X =24l 8,000 x5 45 1,800
Od+==22 S0, HE S) M
3,000,000 =14 3,000
301 YPYBNZ 1,800 1,800 0
09 HALAHIXIAZ 1,800 1,800 0
OtH+==2Z HFA(SSH) 28 SAL 24|
8,000 1253 » 1 Al 1,000
Odfl==% MHELA(ZSH) A4
400,000& x2H 800
401 A& HI YL 20| 156,000 50,500 105,500
01 Al&HI 156,000 50,500 105,500
O=dstHd &X 8,000,000& 14! 8,000
OtH==2Z HHAT(AIEAIEE S) M=
6,000,000& 14! 6,000
oRzasYy &x 5,000,000 =14 5,000
QolsAgola M2 L AX 5,000,000 *3H 15,000
Ot & X 50,000 404 2,000
OWMALE &HHl ZHIXt 20,000,000 14! 20,000
OGANSSH L LH Diets MEAX
100,000 *1,0004 100,000
SAHESAA 2Y 21,700 21,700 0
201 et Fy| 14,700 14,700 0
01 AtR2teltl 14,700 14,700 0
OHMAHS ALY HIAZSA L=2H| 11,700
QELIZ2X =&l 60,000 3H «30 5,400
OFLUZ22A L2l 120,0003 *3F 15 5,400
QoI L2 A LAY 60,0003 1 15 900
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24 2B
7(‘| il—l:

==
ol YUHASE 2Y (ct9: M2
- PSRE |
SN BB S(E) - MRAY - BAS 01l &t o S mEET
O AHHE S AL Sl 3,000,000 =14 3,000
401 Al EBI YL 2CHYI 7,000 7,000 0
01 Al&H 7,000 7,000 0
OGABEZ AL HIAIL HH|
7,000,000 *14] 7,000
Mol ==E M2 58,567 43,854 14,713
101 124 H| 58,567 43,854 14,713
04 JI2EMI22 XS E 58,567 43,854 14,713
OHttof==2F SHAES E) L o2
SiRals] 58,567
oJles 90,0003 +8H 452 32,400
O=F=s¢ 90,000 *8H 7 5,040
OE Xt 90,000 *8H 1 720
Os5g22¥ 90,000 +8H»15240.5 5,400
Oz Al 8,000 x8H 24l +45 5,760
o1l =l 200,000 x8H 1,600
O2Z2tAH| 5,000 8 452 1,800
O30z EEZ 6,590,000& +8H +0.045 2,373
OHLEEEEZ  6,590,000& 8H +0.03495 1,843
OFIIRLEER 156,2403 x8F +0. 1227 154
ONEEHEEE= 6,590,000 *8H+0.0175 923
O&ATHHEE = 6,590,000 8% +0.0105 554
SHAGH=E ~A0HM 2HE 391,055 390,405 650
101 el 24| 384,535 383,885 650
04 JI12tM22sEx 384,535 383,885 650
O+ AHMR R Q| 384,535
oJles 90, 000& *40H #4524 162,000
O=F=¢ 90,0003 +40H 7 25,200
OEXt=¢ 90,0003 *40H 1 3,600
Osg22sg 90,0002 *40H x152«0.5 27,000
ookt2z2+4(d1=71)
10,0002 x5 x212 *5A| 2+ 5,250
OoRIZESL(HID], dE22)
5,000 x5 x212 x2 Al 2¢ 1,050
OoRtIZESE(H=71)
10,0002 *10H «24 A «5A| 2+ 12,000
oort2zag(84J], d&22)
5,000 10«24 2«2 A| 2+ 2,400
o4 40,0003 1 45 1,800
(O FSE= 30,0003 1 45 1,350
OX&EY 20,0003 +4H 452 3,600
(OFk=-Ea= 10,0002 x40 #4522 18,000
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A 230

A ST e
ool GAHARY 2Y (ool &2
PSIE!
. S (30) - MRAY - BAS S
O=24ld| 8,000& *40H 34! 45 43,200
OZ2+Ald| 5,000& *40H x45 9,000
Oo1l=l 300,000 40 12,000
OQUAHIOHEN, HEZ)
90,000 7 H*14 8,820
OFL22+2ONEA, HEZ)
90,0003 +7E 42 %0.5 1,260
OFA+E (NI, HEYE)
90,0003 »7&H x2& 1,260
OSAHIOHEE, HEZ)
8,000& 7 »24l 14 1,568
O=0s=2Ea 8,508, 950& *40H 0. 045 15,317
OALEEEEE 8,508,950 x40 +0.03495 11,89
OFIIgLEE= 291,860& x40 =0. 1227 1,433
OLNsEg28a  8,508,950& 40 +0.0175 5,957
Ot Mol 2= 8,508,950& «40H «0.0105 3,574
Q&iEd Oty 150,000 x40 6,000
2ot | 4,000 4,000
At 2teltl 4,000 4,000
O+ s &H P 3,000, 0003 * 14! 3,000
oARE ¢ 1,000, 000& * 14! 1,000
LOE NS 2,520 2,520
HAAHIXIE S 2,520 2,520
Odfl==& & 2te] SAHAL =S4l
8,000& 7 » 14145 2,520
= HAEY 122,700 122,700
g2 121,500 121,500
Szl 11,500 11,500
SR HAEIE 22 10,000, 0003 * 141 10,000
SAHHIXIHIAEIE MeA 013 =&
150,000& 10 1,500
HAF2 EHI 110,000 110,000
O AHHIXT HIAEIE JHE 100,000,000 * 141 100,000
OA7Z2 HAEIE HE 10,000, 0003 * 141 10,000
LOE NS 1,200 1,200
09 HALAHIXIA S 1,200 1,200
OS AR HIAEIE 2 N2 SAHA S48
8,000& *30H 1A %53 1,200
HEXE L 29 622,463 849,443
< 54,000
= 568,463
g &3 622,463 849,443
< 54,000
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SA 2R
M HUTE U 29
ool OISR 29 (ct9: M2
o - PSEE
SA B SRA(EH) - MTAY - BAS 0f &t e HIDE
o 568,463
Otsdi==8 2922 84,620 113,120 /28,500
101 2124H| 7,920 7,920 0
04 J12tHZ22 S E 7,920 7,920 0
OHIxIZeld 29 90,000& *2H A x2H »22 7,920
201 fet2E| 42,400 72,400 230,000
01 AtR2telH 42,400 42,400 0
Oth==% =20, HE S) M
8,000,000 =14 8,000
OHIXIZeclH 248| 2,200,000 2J4 2= 4,400
Od+==& +=Z T At 4,400,000& 52 22,000
OtH+==& WAIY EL T A
8,000,000& %13l 8,000
202 044 1,800 1,800 0
01 =Woddl 1,800 1,800 0
Od+==& FRFA0| 20,0003 »2H 45 1,800
307 eI+l 6,500 5,000 1,500
12 QI2HOI R E W = H 6,500 5,000 1,500
ONHED MR FHAY
6,500,000& * 14 6,500
401 Al HIZL 20l 26,000 26,000 0
01 Al€H| 26,000 26,000 0
Odf+==& CtUZH(AIEAIESE S) MH
26,000,000 14| 26,000
OiSdi+==8 AEEE & Z2Ld 238,500 372,000 A\ 133,500
201 Zet=dhl 58,500 42,000 16,500
01 At 22l 58,500 42,000 16,500
O0ISA SHFA U AT AR
6,500,000& *9= 58,500
401 Al HIZ SO 180,000 330,000 A 150,000
01 AlEHI 180,000 330,000 A 150,000
Odfl==a A= HE+ At
150,000,000 14 150,000
Ooll+==SH(200) =P S3EHHIAY
20,000,000 14| 20,000
Odfl==ZAL= &I ANEH
10,000,000 14 10,000
StEMHBIXI HIAEIE 30,000 40,000 210,000
201 Zet=dhl 20,000 30,000 210,000
03 &A= S 20,000 30,000 210,000
OGHAMHIXI HIAEIZ JHEl 20,000,000 14! 20,000
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A
7(‘| il—l:
C|—O|:

22
HEME L 29
OSdi+==% 23

SA SR (S) - MRAY - BAS il &t e RS2
401 A& HI YL 20HHI 10,000 10,000 0
04 A2 A S| 10,000 10,000 0
OSIEHH+SH BHRMH RIF LX)
10,000, 000& * 14! 10,000
OtMSE HEMN==2E 29 K& 269, 343 324,323 254,980
& 54,000
o 215,343
101 el 24| 254,343 235,323 19,020
& 54,000
i 200,343
04 JI12tM22sEs 254,343 235,323 19,020
Ool+==E AR 21| 254,343
oJles 90, 000& *33H 45 133,650
& 40,095
o 93,555
O=F=s¢ 90,0003 *33F 7 20,790
& 6,237
o 14,553
OE X< 90,000 *33F » 1 2,970
& 891
o 2,079
Osd22sg 90,0002 *33F x152%0.5 22,275
& 6,682
o 15,593
Ok k=R = 10,0002 *33H *45 14,850
& 95
o 14,755
Oul=Hl 300,000 33 9,900
Oz Al 8,000& x33H « 14l x45L 11,880
(@Fdga]a] 5,000 33 45 7,425
O30z EE= 6,930,000& «33& +0.045 10,292
ONs2828s 6,930,000&*338+0.0175 4,003
OHLEBEEEZ 6,930,000 x33E *0.03495 7,993
OFEIQLEEZ 237,700 x33E 0. 1227 963
O&STHHEEZ  6,930,000& 33 +0.0105 2,402
OMHEE Ot 150,000 33 4,950
201 et Fy| 5,000 5,000 0
01 ARl 5,000 5,000 0
ORS I 7Y 5,000, 0002 * 14! 5,000
401 Al HI L2 0HHI 10,000 84,000 AT74,000
01 Al&HI 10,000 84,000 AT74,000
O==&0tM AIAE FHHI(AYRXE S)
10,000, 000& * 14 10,000
Y E= ZHH 23t 473,912 1,857,574 A 1,383,662
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FA 2
MM PR Y U3
SRl 2ZdE=E AL =E (el &
SA B SRA(EH) - MTAY - BAS 0f &t e HIDE
s 117,000
< 58,000
= 298,912
Y E=E AL &= 390,912 1,857,574 A1,466,662
[ 117,000
= 273,912
LAAMEUAEE X 50,000 70,000 A20,000
201 £et24E| 50,000 70,000 A20,000
03 A2 S H 50,000 70,000 A20,000
OME HAEIY iz 50,000,0003 14 50,000
2 EZ= A= =7 2 193,912 116,574 77,338
101 21 24H| 27,912 26,574 1,338
04 JIZtN 22 S+ 27,912 26,574 1,338
oaZdE= AMEE FX2el 24 27,912
(@il 82,6402 20«12 19,834
OFs=+g 82,6403 523 4,298
O3xt==d 82,6402 123 992
O=0d=2g= 25,122,560& +0.045 1,131
(@NE=J-3= L= 25,122,560& +0.0175 440
OAHLEERE=S 25,122,560% +0.03495 879
OFILLE= 879,000& +0. 1227 108
OdtHEE= 24,032,000 +0.00956 230
201 £et2E| 57,000 50,000 7,000
01 AtR2telH 27,000 25,000 2,000
OHLSBEUZ=MH F=XE RS
10,000,000 *14 10,000
osuBEE =Y WF=E 5,000,000 *14] 5,000
oXNF=LNHI BEHY X HREES
5,000,000& * 14! 5,000
OdlEZ= AMEE £XFXN UHEE
5,000,000 =14 5,000
oAZdE= 2 AtRZcldl
2,000,000& * 14 2,000
02 3323 30,000 25,000 5,000
oaZdrE= AIEZE St= 30,000,000 *14] 30,000
307 212t01 A 19,000 20,000 1,000
05 22t E= 18,000 18,000 0
ONBBEE 24H2lAlL SISty
18,000,000& 14| 18,000
06 28= 1,000 2,000 A 1,000
oMdua 28z 1,000,000 =14 1,000
401 Al HIZL 20l 90,000 20,000 70,000
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SA 220
I Y Ex FHH A
Cer 22 EE AL EBE EEEEE
P = o Polls
SN B CR(BH) - MRAY - BES 0l et S HRE2
01 Al&Hl 90,000 20,000 70,000
OZZYUZE ANEES RNE>
40,000,000 141 40,000
OYBEE MES RANES 10,000, 0003 14| 10,000
OXZ=LUNHIIBEE OlsASEA X
40,000,000 14| 40,000
NA+=REXNAS (MEHIXNZE ZgA) 117,000 1,090,000 973,000
z 117,000
401 AIEHIZL R 0HYI 117,000 1,040,000 A923,000
= 117,000
01 AI&H| 117,000 1,040,000 923,000
OMEHIXIZE =& 117,000,000 * 141 117,000
z 117,000
JEE=R HAEE 30,000 30,000 0
201 ZBt24] 30,000 30,000 0
03 A2 EH] 30,000 30,000 0
O¥E=S HAEE 30,000,000 141 30,000
NE2AL 4 83,000 0 83,000
S 58,000
z 25,000
NEZA QIS NF ALY 83,000 0 83,000
= 58,000
= 25,000
307 gIztol A 29,000 0 29,000
= 20,300
= 8,700
02 IZHHMAHE X 29,000 0 29,000
ONEZA ASWEAMY XS
29,000,000 14 29,000
S 20,300
= 8,700
401 AlZHIL 2] 38,000 0 38,000
S 26,500
= 11,500
01 Al&HI 38,000 0 38,000
OMEZA REHA(HLSEAZLH)FX
2= 38,000,000 14! 38,000
S 26,500
z 11,500
405 XHoHFE SH 16,000 0 16,000
S 11,200
z 4,800
01 Xratd S S H S 16,000 0 16,000
OMEZA NEFHI(MEEE) 7Y
400,000 *40H 16,000
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SA 2R
Y #HY2IAL (2
Sl JI2FH(BBD) (St A2
= = — X L=
SA SR (S) - MRAY - BAS il &t e RS2
oget=ZH| 12,730,000& 14 12,730
Oz &l 32,0002 x14H 128 5,376
ogxt=z 6,720,000 14 6,720
O&Zot A RIHA2Z2 X TS|
500,000& *4H 2,000
202 04| 15,000 19,600 A4,600
01 = LHGYI 15,000 19,600 24,600
O=U0l 15,000, 000& * 14! 15,000
203 HRF&H| 4,200 4,200 0
04 EN2SLRFAH| 4,200 4,200 0
OFRA2IHRFAY| 350,000 x12& 4,200
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